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                                               EDITION :3| ACADEMIC SESSION: 2019-20         

SAMPLE TEST PAPER |STAGE-2|  
CLASS : 8   

 Time ¼le;½ : 120 Minutes ¼120 feuV½    Max. Marks ¼vf/kdre vad½% 300  

Please read the instructions carefully. You are allotted 5 minutes specifically for this purpose. 
Ñi;k bu funsZ'kksa dks /;ku ls i<+saA vkidks 5 feuV fo'ks"k :i ls bl dke ds fy, fn;s x;s gSaA 

 

Student Name (ijh{kkFkhZ dk uke):       ResoSTEP Roll Number: 

 

  

 GENERAL INSTRUCTIONS FOR EXAMINATION HALL ¼ijh{kk dsUnz ds fy, funsZ'k½ 
 

1. Do not open the question-paper booklet before 
instructed to do so by the invigilators. 

1. iz'u&i=k rc rd ugha [kksysa tc rd fd fujh{kd 
}kjk funsZ'k ugha fn, tk,saA 

2. This Question Paper contains 75 questions. Each 
question has 4 choices (A), (B), (C) and (D) out of 
which ONLY ONE is correct. Please check before 
starting to attempt.  

2. bl iz'u&i=k esa 75 iz'u gSaA izR;sd iz'u ds 4 fodYi 
(A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh 
gSA Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA    

3. Space is provided within question paper for rough 
work. Therefore, no additional sheets will be 
provided. 

3. jQ dk;Z djus ds fy, iz'u&i=k esa gh LFkku fn;k 
x;k gS vr% vfrfjDr :i ls dksbZ 'khV ;k isij 
ugha fn;k tk,xkA 

4. Blank paper, clipboard, calculators, Mobile and 
electronic gadgets in any form are not allowed inside 
the examination hall. Any student found/reported using 
unfair means to improve his/her performance in the test, 
shall be disqualified from ResoSTEP. 

4. [kkyh dkxt] r[rh] dsYdqysVj] eksckbZy ,oa fdlh 
Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk 
oftZr gSA ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus 
ds fy, vuqfpr lk/kuksa dk iz;ksx djrk ik;k x;k 
rks] og ResoSTEP ijh{kk ds fy, v;ksX; ?kkf"kr 
dj fn;k tk,xkA 

5. Fill the OMR given along completely & correctly. 5. vks,evkj dks iwjh rjg rFkk lgh rjhds ls HkjsaA  

6. Darken the correct bubble (A, B, C or D) in the OMR 
provided in front of each question number. 

6. OMR esa çR;sd iz’'u ds fy;s lkeus fn;s x;s xksys  
(A, B, C ;k D) dks iwjh rjg ls dkyk HkjsaA  

7. SUBMIT the OMR back to the invigilator after 
completing the test. 

7. ijh{kk lekIr gksus ds ckn OMR fujh{kd dks lkSai 
nsaA 

8. Write your ResoSTEP Roll Number with a blue / 
black ball pen in the boxes given at the top left 
corner of this question paper. 

8. viuk uke vkSj ResoSTEP jksy uEcj] bl iz’'u i=k ds 
mij fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA 

9. If any student does not fill his/her ResoSTEP 
Student Roll No. correctly and properly, then his/her 
OMR will not be checked. 

9. ;fn dksbZ fo|kFkhZ viuk ResoSTEP jksy uEcj 
lgh ,oa Bhd <ax ls ugha Hkjrk gS rks mldh mÙkj 
iqfLrdk dks tkapk ugha tk,xkA 

10. Question paper format and Marking scheme :   
For every correct answer, you will be given 4 marks. 
In case of incorrect answer, minus one (–1) mark 
will be deducted. 

10. iz'u&i=k izk:i ,oa vad iznku fu;e %  
     izR;sd lgh mÙkj ds fy, 4 vad fn, tk,xsaA izR;sd   
     xyr mÙkj ds fy, 1 vad dkVk tk,xkA  

Best of Luck!  
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PART - I (PHYSICS) 
Hkkx-I ¼HkkSfrd foKku) 

 
 

1.  A sheet of paper is placed on a table and a jug full of water is kept on it while pulling the paper 

suddenly, it is observed that the water does not spill out of jug. It is due to the inertia of the 

 (A) Paper Sheet  (B) Jug & Water in it  

 (C) Hard  (D) Table  

 dkxt dh ,d 'khV est ij j[kh gS] bl ij ikuh ls Hkjk tx j[kk tkrk gS vpkud dkxt dks [khapus ij ;g ns[kk 

tkrk gS fd ikuh tx ds ckgj ugha QSyrk gSA bl tM+rk dk dkj.k gSA 

 (A) dkxt dk iUuk   (B) tx vkSj tx ds vanj dk ikuh  

 (C) dBksj  (D) est 

 

2.  "Every Action has equal & opposite reaction" was discovered by 

 (A) Pascal (B) Newton (C) Edison   (D) Copernicus  
 **gj fØ;k dh leku ,oa foijhr izfrfØ;k gksrh gS** bldh [kkst fdlds }kjk dh xbZ FkhA 

 (A) ikLdy  (B) U;wVu (C) ,fMlu  (D) dwijfudl 

 

3.  If a car travels a distance of 100 km & it takes 25 minutes to reach its destination, the speed of the car 

is : 

 (A) 4 km/min  (B) 4 m/min  (C) 400 m/min  (D) None of these   

 ;fn ,d xkM+h 100 fdeh dh nwjh r; djds vius xarO; rd igqapus esa 25 feuV yxkrh gS] rks dkj dh xfr gksrh gS 

 (A) 4 fdeh@feuV (B) 4 ehVj@feuV  (C) 400 ehVj@feuV   (D) buesa ls dksbZ ugha 

 

4.  Name of scienctist who gave a relationship between mechanical energy & heat energy  

 (A) Darwin   (B) James Watt  (C) James Prescott Joule (D) Sir Isaac Newton  

 mu oSKkfud dk uke ftUgksusa ;kaf=kd ÅtkZ vkSj m".k ÅtkZ ds chp laca/k fn;kA 

 (A) MkfoZu  (B) tsEl okWV (C) tsEl izsLdkWV twy (D) lj vkblsd U;wVu 

 

5.  A 1500 W electric geyser used every day for 2 hrs. Calculate the energy consumed ? 

 (A) 90 kWh  (B) 30 kWh  (C) 750 kWh  (D) None of these  

 ,d 1500 okWV dk bysfDVªd xhtj jkst 2 ?kaVs bLrseky fd;k tkrk Fkk] [kir ÅtkZ dh x.kuk dhft, \ 

 (A) 90 kWh  (B) 30 kWh  (C) 750 kWh   (D) buesa ls dksbZ ugha  
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6.  As per Law of Conservation of energy during a process or system of transformation of energy, the 

energy is :  

 (A) Always lost 

 (B) Always gained  

 (C) Neither gain nor lost 

 (D) Only gets converted for heat to mechanical energy  
 ÅtkZ dh ifjorZu ;k izfØ;k ds nkSjku ÅtkZ ds laj{k.k ds dkuwu ds vuqlkj] ÅtkZ dk gksrk gS % 

 (A) ges'kk uqdlku   

 (B) ges'kk izkIr 

 (C) u rks ykHk vkSj u gkfu  

 (D) dsoy ;kaf=kd ÅtkZ ds fy, Å"ek esa ifjofrZr gks tkrk gS 

 

7. Sound can travel through   

 (A) Gases only  (B) Solids only  

 (C) Liquids only  (D) Solids, liquids and gases 

 fuEu esa ls fdlesa /ofu dk fudyuk lEHko gS 

 (A) dsoy xSl   (B) dsoy Bksl 

 (C) dsoy rjy   (D) Bksl rjy xSl 

 

8. Which of the following voices/sound is likely to have minimum frequency ? 

 (A) Baby girl (B) Baby boy (C) A man (D) A woman  
 fuEu esa ls fdl dh /ofu dh U;wure vof/k gksrh gS % 

 (A) NksVh ckfydk  (B) NksVk ckyd  (C) iq#"k  (D) efgyk 

 

9. Name the instrument you will use to observe rings of the planet Saturn 

 (A) Telescope (B) Microscope (C) Simple lens (D) None of these  

 'kfu dk xzg ds NYys dk fujh{k.k djus ds fy, vki ftl ;a=k dk mi;ksx djsaxs mldk uke nsa 

 (A) VsyhLdksi  (B) ekbØksLdksi  (C) lk/kkj.k ysal  (D) buesa ls dksbZ Hkh ugha 

 

10. Which of the planet is having highest number of satellites : 

 (A) Jupiter (B) Venus (C) Mercury  (D) Saturn  
 fuEu esa ls fdl xzg ds lokZf/kd mixzg gS % 

 (A) c`gLifr xzg  (B) 'kqØ xzg  (C) cq/k xzg   (D) 'kfu xzg 
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PART - II (CHEMISTRY)   

Hkkx- II ¼jlk;u foKku½ 

 
11. What  is the color of coal 
 (A) Black (B) Green (C) Blue (D) Yellow 

 dks;ys dk jax dkSu lk gksrk gS \ 

 (A) dkyk (B) gjk (C) uhyk (D) ihyk 
 
12. Which of the following is the symbol of Carbon ? 

 fuEu esa ls dkcZu dk çrhd dkSu lk gS \ 

 (A) N  (B) O  (C) Cl (D) C 
 
13. Which of the following is called black gold ?  
 (A) Coal (B) Diamond (C) Aluminum (D) Petroleum  

 fuEu esa ls fdls dkyk lksuk dgk tkrk gS \ 

 (A) dks;yk (B) ghjk  (C) ,Y;wehfu;e (D) isVªksfy;e 

 
14. Which of the following is the Negatively charged particle 
 (A) Neutron (B) Proton  (C) Electron (D) None of these  

 fuEu esa ls _.k vkosf'kr d.k dkSu lk gS 
 (A) U;wVªkWu  (B) çksVksu (C) bysDVªkWu  (D) buesa ls dksbZ ugha 
 
15. Which is the Positively charged particle  
 (A) Neutron (B) Proton  (C) Electron (D) None of these  
 fuEu esa ls /ku vkosf'kr d.k dkSu lk gS \ 

 (A) U;wVªkWu  (B) çksVkWu  (C) bysDVªkWu (D) buesa ls dksbZ ugha 
 
16. Which of the following is the Neutral  particle  
 (A) Neutron (B) Proton  (C) Electron (D) None of these  
 fuEu esa ls dkSu lk mnklhu d.k gS 
 (A) U;wVªkWu  (B) çksVkWu (C) bysDVªkWu  (D) buesa ls dksbZ ugha 
 
17. Name the scientist who used alpha particles in experiment ? 
 (A) John Dalton (B) Newton (C) Mendel (D) Rutherford  
 vYQk d.kksa dk ç;ksx fuEu esa ls fdl oSKkfud us fd;k 
 (A) tkW‚u MkWYVu (B) U;wVu  (C) esaMy  (D) jnjQksMZ 
 

mailto:resostep@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx


Space for Rough  Work / (dPps dk;Z ds fy, LFkku) 

 
 
 

 

  

 ® 

 

Corp. / Reg. Office: CG Tower, A-46 & 52, IPIA, Near City Mall, Jhalawar Road, Kota (Raj.)-324005 
JEE Main Div. Campus: CG Tower-2, [A-51 (A)], IPIA, Behind City Mall, Jhalawar Road, Kota (Raj.)-324005 

Website: www.resonance.ac.in | E-mail: resostep@resonance.ac.in 
SCIMATHVIIIS2A -4 

Toll Free: 1800 258 5555  | CIN: U80302RJ2007PLC024029  
    

18. What is the number of protons in oxygen  

 vkWDlhtu esa çksVkWu dh la[;k fdruh gksrh gS 
 (A) 4 (B) 5 (C) 6 (D) 8 
 

19. What is the first element of the periodic table 
 (A) Chlorine (B) Nitrogen (C) Hydrogen (D) Oxygen  
 vkorZ lkj.kh dk çFke rRo dkSu lk gS 
 (A) Dyksjhu  (B) ukbVªkstu  (C) gkbMªkstu  (D) vkWDlhtu 
 

20. Which of the following are the particles revolving around the nucleus 
 (A) Neutron (B) Proton (C) Electron (D) None of these  
 fuEu esa ls ukfHkd ds pkjksa vksj pDdj yxkus okys d.k dkSu ls gSa 
 (A) U;wVªkWu  (B) çksVkWu  (C) bysDVªkWu (D) buesa ls dksbZ ugha 
 

PART - III (BIOLOGY)   
Hkkx- III ¼tho foKku½ 

 

21.  What is weed ? 
 (A) Unwanted plant along with crops (B) The root protein of the plants 
 (C) The disease cause to plants  (D) None of these  
 [kjirokj D;k gS \  

 (A) Qlyksa ds lkFk vaokfNr ikS/ks  (B) ikS/kksa dh tM+ izksVhu  

 (C) ikS/kksa dks gksus okys jkssx  (D) buesa ls dksbZ ugha 
 
22. Which of the following will not be returned to the ecosystem and recycled ? 
 (A) Carbon Dioxide (B) Heat Energy (C) Salts (D) Urea  
 fuEu esa ls fdldk ikfjfLFkfrdh ra=k esa iqu% ços'k vkSj iquuZohuhdj.k laHko ugha gS \ 

 (A) dkcZu MkbvkWDlkbM (B) m"ek ÅtkZ  (C) yo.k (D);wfj;k 
 
23. Name the pigment which can absorb solar energy ? 
 (A) Chlorophyll (B) Lucoplast  (C) Biotine (D) None of these   
 fuEu esa ls dkSu&lk o.kZd lkSj ÅtkZ dks vo'kksf"kr dj ldrk gS \ 

 (A) DyksjksfQy   (B) Y;wdksIykLV  (C) ck;ksfVu (D) buesa ls dksbZ Hkh ugha 
 
24. Name the respiratory organs of fish   
 (A) Lungs (B) Skin  (C) Gills  (D) Fins   
 eNyh ds 'olu vax dk uke crk;s  

 (A) QsQM+s  (B) Ropk  (C) fxy  (D) eNyh ds ij 
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25.  Plants take carbon dioxide from the atmosphere mainly through their : 
 (A) Roots    (B) Stem (C) Flowers   (D) Leaves  
 ikS/ks eq[; :i ls ok;qeaMy ls dkcZu MkbvkWDlkbM fdlds ek/;e ls ysrs gSa% 
 (A) tM+sa   (B) LVse  (C) Qwy   (D) ifÙk;ka 
 

26. Which part of the plant takes in carbon dioxide from the air for photosynthesis ? 
 (A) Root hair (B) Stomata   (C) Leaf veins   (D) Sepals  
 ikS/ks dk dkSu lk fgLlk çdk'k la'ys"k.k ds fy, gok ls dkcZu Mkbv‚DlkbM ysrk gS\  
 (A) ewy jkse (B) LVksekVk (C) i.kZ okfgdk  (D) lsiYl 
 

27. Which of the following is not a forest product? 
 (A) Gum (B) Plywood (C) Sealing wax (D) Kerosene  
 buesa ls dkSu lk ou mRikn ugha gS\ 

 (A) xe  (B) IykbZoqM   (C) ekse   (D) dsjksflu 
 

28. Micro organisms act upon the dead plants to produce 
 (A) Sand (B) Mushrooms (C) Humus (D) Wood 

 lw{e tho fdlds mRiknu ds fy, e`r ikS/kksa ij dk;Z djrs gSa 
 (A) jsr  (B) e'k:e  (C) áwel  (D) ydM+h 
 

29. What is the number of chromosomes in the human diploid cell  
 (A) 81  (B) 90   (C) 46  (D) 23 

 ekuo dh f}xqf.kr dksf'kdk esa xq.klw=kksa dh la[;k fdruh gksrh gS 
 (A) 81  (B) 90   (C) 46  (D) 23 
 

30. Which substance can be taken in excess without causing health problems ?  
 (A) Water (B) Sugar  (C) Oil  (D) Salt  

 dkSulk inkFkZ vfrfjDr fy;k tk ldrk gS] fcuk LokLF; leL;kvksa ds \ 
 (A) ikuh (B) phuh (C) rsy (D) ued 
 

PART - IV (GENERAL AWARENESS)   
Hkkx- IV ¼lkekU; Kku½ 

 

31.  The French East India Company was formed in— 
 (A) 1664 AD (B) 1660 AD (C) 1656 AD (D) 1680 AD  
 Ýkalhlh bZLV bafM;k daiuh dk xBu fdl o"kZ esa fd;k x;k Fkk& 

 (A) 1664 bZLoh (B) 1660 bZLoh (C) 1656 bZLoh (D) 1680 bZLoh 
 

32. After how many years of crowning Ashoka attacked on Kalinga – 

 v'kksd us jkT;kfHk"ksd ds fdrus o"kksZ ckn dfyax ij vkØe.k fd;k & 

 (A) 9 years o"kZ (B) 8 years o"kZ (C) 10 years o"kZ (D) 7 years o"kZ 
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33.  Which one of the following periodicals was published by Mahatma Gandhi during his stay in South 

Africa ? 

 (A) Afrikanes (B) Indian opinion (C) India Gazette   (D) Navjivan  

 nf{k.k vÝhdk esa jgus ds nkSjku egkRek xka/kh us fuEufyf[kr esa ls dkSu lk lekpkj i=k çdkf'kr fd;k Fkk\ 

 (A) vÝhdh  (B) Hkkjrh; jk;   (C) Hkkjr jkti=k  (D) uothou 
 

34.  Which one of the following battles was fought between Babar and the Rajputs in 1527 ? 

 (A) The First Battle of Panipat (B) The Battle of Khanwa 

 (C) The Battle of Ghagra  (D) The Battle of Chanderi  
 1527 esa ckcj vkSj jktiwrksa ds chp fuEufyf[kr esa ls dkSu lh yM+kbZ yM+h xbZ Fkh\ 

 (A) ikuhir dh igyh yM+kbZ   (B) [kkuok dh yM+kbZ 

 (C) ?kk?kjk dh yM+kbZ   (D) pansjh dh yM+kbZ 
 

35. ‘NASSCOM’ is a group of the companies of which sector – 

 (A) Automobiles (B) Civil Aviation (C) Software (D) Telecom  
 ‘NASSCOM’ fdl {ks=k dh daifu;ksa dk ,d lewg gS & 

 (A) vkWVkseksckby  (B) flfoy ,fo,'ku  (C) lkW¶Vos;j  (D) nwjlapkj 
 

36. 'Libor' is –  

 (A) an interest rate (B) A type of tax  (C) Information Network (D) Festival  
 'fycksj' gS & 

 (A) C;kt nj  (B) ,d çdkj dk dj  (C) lwpuk usVodZ  (D) egksRlo 
 

37.  What is OPEC ?   
 (A) The latest space shuttle of USA (B) The latest space drive of Russia 
 (C) Organisation of oil producing companies of India (D) Organisation of oil exporting countries 

 vksisd OPEC D;k gS\ 
 (A) vesfjdk dk uohure vfUrfj{k&;ku  (B) :l ¼Russia½ dk uohure vfUrfj{k Mªkbo 

 (C) Hkkjr ds rsy mRiknd daifu;ksa dk lewg  (D) rsy fu;kZrd ns'kksa dk lewg  
 

38. The four layers of the atmosphere are – 
 (a) Ionosphere (b) Mesosphere (c) Stratosphere (d) Troposphere  
 Their correct ascending order in terms of height is  
 (A) a, b, c, d (B) b, a, d, c (C) d, c, b, a (D) c, d, a, b 

 ok;qeaMy dh pkj ijrsa gSa & 

 (a) vk;ueaMy  (b) e/;eaMy  (c) lerki eaMy  (d) m".kdfVca/kh; 

 ÅapkbZ ds lanHkZ esa mudk lgh vkjksgh Øe gS 
 (A) a, b, c, d (B) b, a, d, c (C) d, c, b, a (D) c, d, a, b 
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39.  In which state is 'Rana Pratap Sagar' atomic power plant located? 

 (A) Rajasthan (B) Gujarat (C) Haryana (D) Karnataka  
 ^jk.kk çrki lkxj* ijek.kq ÅtkZ la;a=k fdl jkT; esa fLFkr gS\ 

 (A) jktLFkku  (B) xqtjkr  (C) gfj;k.kk  (D) dukZVd 
 

40. Nehru Institute of Mountaineering is situated in  

 (A) Uttarkashi (B) Patna (C) Delhi (D) Lucknow  
 usg: ioZrkjksg.k laLFkku dgk¡ fLFkr gS\ 

  (A) mÙkjdk'kh  (B) iVuk  (C) fnYyh  (D) y[kuÅ 

 
41. Where is oil and Natural Gas Commission located ? 

 (A) Ankleshwar (B) Dehradun  (C) Cambay (D) Haldia  
 rsy vkSj çkd`frd xSl vk;ksx dgka fLFkr gS\ 

 (A) vadys'oj  (B) nsgjknwu  (C) dSacs  (D) gfYn;k 

 
42.  Who is the current president of India ?   

 (A) Ramnath Kovind (B) Pratibha Patil  (C) Arun Jaitely (D) Narendra Modi  
 Hkkjr ds orZeku esa] jk"Vªifr dkSu gSa \ 

 (A) jkeukFk dksfoan   (B) izfrHkk ikfVy (C) v:.k tsVyh  (D) ujsUnz eksnh 

 
43. Minimum age to Become President is ?  

 (A) 25 years    (B) 21 years   (C) 35 years   (D) 18 years   

 Hkkjr dk jk"Vªifr cuus dh U;wure vk;q gSa & 

 (A) 25 o"kZ  (B) 21 o"kZ  (C) 35 o"kZ (D) 18 o"kZ  
 

44. Who is the current Governer of Rajasthan ? 

 (A) Kalyan Singh (B) Leela Seth  (C) Deepak Mishra (D) Arun Chaturvedi  
 jktLFkku ds orZeku esa] jkT;iky dkSu gSa \ 

 (A) dY;k.k flag (B) yhyk lsB (C) nhid feJk (D) v:.k prqosZnh 

 
45. Supreme Court of India is Situated at ? 

 (A) Delhi (B) Mumbai (C) Chennai (D) Kolkata  
 Hkkjr dk loksZPp U;k;ky; dgk¡ fLFkr gSa \ 

 (A) fnYyh (B) eqEcbZ (C) pSUubZ (D) dksydkrk 
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PART - V (MATHEMATICS)   
Hkkx- V ¼xf.kr½ 

 

46. The number of divisors of 60 is :   

 60 dk Hkktd gS % 
 (A) 8 (B) 12 (C) 4 (D) 16 
 
47. Which of the following number is divisible both by 2 and 3 ? 

 fuEu esa ls dkSu lh la[;k 2 o 3 ls HkkT; gSa \ 

 (A) 124 (B) 1032 (C) 4173 (D) 2222 
 
48. Find the HCF of 108, 288 and 360.  

 108, 288 vkSj 360 dk eli gksxkA 

 (A) 18 (B) 24 (C) 36 (D) 72 
 

49. The smallest fraction, which each of 
21

10
,

14

5
,

7

6
 will divide exactly, is : 

 fuEu easa ls dkSulh fHkUu 
21

10
,

14

5
,

7

6  lcls NksVh gSa 

 (A) 
7

30
 (B)  

98

30
 (C) 

147

60
 (D) 

294

50
 

 
50. In the adjoining figure, Lines L, M and N are parallel and line P is the transversal. Find the values of x 

and y. 

 fn;s x;s fp=k esa L, M vkSj N ,d nwljs ds lekUrj gS rFkk P ,d f=k;sd js[kk gS tks bUgsa dkVrh gS rks x rFkk y dk 
eku gksxkA 

L

M

N

110º

y

x

P  
 (A) 70º and rFkk 110º    (B) 110º and rFkk 70º (C) 70º and rFkk 70º (D) 110º and rFkk 110º 

 
51. How many degrees are there in an angle which equals one fifth of its supplement ? 

 ,d dks.k vius iwjd dks.k dk 1/5 gS rks og dks.k D;k gksxk \ 

 (A) 15° (B) 30° (C) 75° (D) 150° 
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52. If the three altitudes of a are equal then triangle is : 
 (A) Isosceles  (B) Equilateral  (C) Right angled (D) None 

 ;fn ds rhuksa 'kh"kZ cjkcj gS rks gksxk \ 

 (A) lef}ckgq (B) leckgq (C) ledks.k  (D) dksbZ ugaha  
 

53. The 4th term of an A.P. is 7 and 8th term is 15 then first term and common difference are 
 (A) 2,5 (B) 2,3 (C) 1, 2 (D) None of these 

 ;fn lekUrj Js.kh dk 4th  in 7 vkSj 8th oka in 15 gS rks igyk in vkSj lkoZ vUrj D;k gksxk \ 

 (A) 2,5 (B) 2,3 (C) 1, 2 (D) buesa ls dksbZ ugha  
 

54. Which term of the AP 3, 10, 17, ..............will be 84 more than its 13th term? 

 lekUrj Js.kh 3, 10, 17, .............. fuEu esa ls dkSulk in 13 osa in ls 84 vf/kd gS  
 (A) 20th (B) 23rd (C) 25th (D) 27

th 

 

55. Number of terms in the sequence 3, 6, 9, 12, .................., 111 is : 

 3, 6, 9, 12, .................., 111 Js.kh esa fdrus in gS 
 (A) 34 (B) 35 (C) 36 (D) 37 
 

56.  Which of the following numbers is not a perfect cube ? 

 fuEu esa ls dksu lh la[;k iw.kZ oxZ ugha gSa \ 

 (A) 2197 (B) 512 (C) 2916 (D) 343 
 

57.  Find H.C.F of 204, 1190 and 1445 ?    

 la[;k 204, 1190 vkSj 1445 dk e- l- i- gSa \ 

 (A) 34 (B) 17 (C) 85 (D) 204 
 

58. Find  H.C.F. of 162 and 90.   

 la[;k 162 vkSj 90 dk e-l-i- gSa \ 
 (A) 9 (B) 12 (C) 18 (D) 24 
 

59.  Find the least number which is exactly divisible by 12, 16, and 20 

 og NksVh ls NksVh la[;k Kkr dhft;s tks 12, 16 vkSj 20 ls iw.kZr% foHkkftr gS \ 

 (A) 200 (B) 240 (C) 320 (D) 232 
 

60. 4 : 5:: x : 480 Find the value of x ?    

 4 : 5:: x : 480 esa x Û dk eku D;k gksxk \ 

 (A) 384 (B) 348 (C) 600  (D) 380  
 

61. Find the simple interest of 4240 at 4.2% p.a for 6 months ? 

 4240 dh jkf'k ij 4.2% okf"kZd lk/kkj.k C;kt dh nj ls 6 ekg dk lk/kkj.k C;kt D;k gksxk \ 

 (A)  89.04 (B)  80.94 (C)  98.04 (D)  85.40 
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62. Find the area of a triangle which base is 4 cm and altitude is 3.5 cm? 

 ,d f=kHkqt dk {ks=kQy D;k gksxk ftldk vk/kkj 4 lseh gS vkSj ÅapkbZ 3.5 lseh gS\ 

 (A) 5 cm2 (B) 6cm2 (C) 7 cm2 (D) 4.5 cm2 

 

63. Find the area of a triangle whose sides are 9cm, 12 cm and 15 cm. 

 fdlh f=kHkqt dk {ks=kQy D;k gksxk ;fn ml dh Hkqtk,¡ 9 lseh] 12 lseh vkSj 15 lseh gS % 
 (A) 51 cm2  (B) 52 cm2  (C) 53 cm2  (D) 54 cm2 

 

64. Find the area of a rectangular garden whose sides 60m and 40m. ? 

 ;fn ,d vk;r dh Hkqtk;s 40 eh vkSj- 60 eh- rks vk;r dk {ks=kQy D;k gksxk \ 

 (A) 1200 m2 (B) 2400 m2 (C) 3600 m2 (D) 4800 m2 

 

65.  The area of sector of a circle which has a central angle of 60 and a radius of 3 cm is : 
 (A) 2.9 cm2  (B) 4.7 cm2  (C) 3.5 cm2  (D) None of these  
 ml o`Ùk[k.M dk {ks=kQy ftlesa 60° dsanzh; dks.k ,oa f=kT;k 3 lsaVhehVj gS & 

 (A) 2.9 cm2  (B) 4.7 cm2  (C) 3.5 cm2  (D) buesa ls dksbZ ugha 
 

PART - VI (MENTAL ABILITY)   
Hkkx- VI ¼ekufld ;ksX;rk½ 

 

Directions (Question 66-69) :  
 Read the following information carefully and answer the questions given below. 
 6 Persons P,Q,R,S,T and U are going to different cities named as  Delhi, Mumbai, Patna, Jaipur, Kota 

and Allahbad. 
 (i) U goes to Patna. 
 (ii) Q does not go to Mumbai and Jaipur.   
 (iii) P goes to Delhi.  
 (iv) The one who goes to Kota is not S and R.  
 (v) T goes to Jaipur.  
 (vi) R does not goes to Mumbai. 
funsZ'k (ç'u 66-69) : 

 nh x;h tkudkjh ds vuqlkj uhps fn;s x;s ç'uksa ds mÙkj fnft;s %  
 6 O;fä P,Q,R,S,T  vkSj U vyx vyx 'kgj tkrs gSa fnYyh ] eqEcbZ ]iVuk ]t;iqj] dksVk vkSj bykgkckn- 
 (i) U iVuk tkrk gSA  
 (ii) Q eqEcbZ vkSj t;iqj ugha tkrk gSA  
 (iii) P fnYyh tkrk gSA 

 (iv) tks O;fDr dksVk tkrk gS og S vkSj R ugha gSaA 

 (v) T t;iqj tkrk gSA 

 (vi) R eqEcbZ ugha tkrk gSA  
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66. Who goes to Mumbai ?  

 eqEcbZ dkSu tkrk gS \ 

 (A) P       (B) Q (C) R (D) S 

 

67. Who goes to Patna ?  

 iVuk dkSu tkrk gS \ 

 (A) P (B) U  (C) R  (D) T         

 

68. Where does R go ?  

 (A) Allahbad (B) Kota   (C) Jaipur (D) Delhi  

 R fdl 'kgj tkrk gS \ 

 (A) bykgkckn   (B) dksVk         (C) t;iqj  (D) fnYyh  

 

69. Who goes to Kota ?   

 dksVk dkSu tkrk gS \  

 (A) P (B) Q           (C) R          (D)  T  
 

70. Which number completes the puzzle ?  

 dkSu lk uacj igsyh dks iwjk djrk gS \ 

  
 

 (A) 21 (B) 30 (C) 19 (D) 23 

 

Directions : (Que. 71 to 72) : Find the next letter in the series :  

funsZ'k : (ç'u 71 ls 72) J`[kayk esa vxyk v{kj crk;sa & 

 

71. Y, W, U, S, Q, ? 

 (A) A (B) P (C) O (D) B 

 

72. AH, DL, GP, JT, ? 

 (A) MY (B) NX (C) MX (D) NY 
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73. A,B,C,D,E,F,G & H are the family members. B is the sister of G and G is the brother of C. E is the wife 

of A, whose father is H. D is the husband of B and F is the son of G. A is the father of B. How 'F' is 

related to 'E' ? 

 (A) Son (B) Grandson (C) Father (D) Nephew  

 A,B,C,D,E,F,G vkSj H ifjokj ds lnL; gSaA B, G dh cgu gS vkSj G, C dk HkkbZ gSA E, A dh iRuh gS] ftlds 

firk H gSA D, B dk ifr gS vkSj F, G dk iq=k gSA A, B dk firk gSA F dk E ls D;k fj'rk gSa \ 

 (A) csVk (B) iksrk (C) firk (D) Hkrhtk 

 

74. If in a coded language 'MENTAL' is written as 'NVMGZO', then following the same code, how are we 

going to write 'SILVER' ? 

 ;fn lkadsfrd Hkk"kk 'MENTAL' esa 'NVMGZO' ds :i esa fy[kk x;k gS] rks mlh dksM dk ikyu djrs gq,] ge 

'SILVER' dks dSls fy[ksaxs\ 

 (A) HROEVI (B) HORVEI (C) GROVEI (D) GOREVI 

 

75. Find the number of triangles in the given figure. 

 fn, x, vkdf̀r esa f=kdks.kksa dks la[;k dh Kkr djsaA 
 

   

 

 

  (A) 16 (B) 32 (C) 38 (D) 40 
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ANSWER KEY 
 

1.  (B) 2.  (B) 3.  (A) 4.  (C) 5.  (D)  6.  (C) 7. (D) 
 
8. (C) 9. (A) 10. (A) 11. (A) 12. (D) 13. (D) 14. (C) 
 
15. (B) 16. (A) 17. (D) 18. (D) 19. (C) 20. (C) 21.  (A) 

 
22. (B) 23. (A) 24. (C) 25.  (D) 26. (B) 27. (D) 28. (C) 
 
29. (C) 30. (A) 31.  (A) 32. (B) 33.  (B) 34.  (B) 35. (C) 

 
36. (A) 37.  (D) 38. (C) 39.  (A) 40. (A) 41. (B) 42.  (A) 

 
43. (C) 44. (A) 45. (A) 46. (B) 47. (B) 48. (C) 49. (A) 
 
50. (A) 51. (B) 52. (B)  53. (C) 54. (C) 55. (D) 56.  (C) 
 
57.  (B) 58. (C) 59.  (B) 60. (A) 61. (A) 62. (C) 63. (D) 
 

64. (B) 65.  (B)  66. (D) 67. (B) 68. (A) 69. (B) 70. (C) 
 
71. (C) 72. (C) 73. (B) 74. (A) 75. (C)  

mailto:resostep@resonance.ac.in
http://www.resonance.ac.in/reso/results/jee-main-2014.aspx

